Two-Way Table Exploration
Question 1:
Complete the table for the activities chosen by 74 teenagers on an activity holiday.
	
	Rock Climbing
	Mountain Climbing
	Total

	Boys
	
	5
	

	Girls
	7
	20
	

	Total
	
	
	



[bookmark: _GoBack]Question 2:

A gym has 69 members.
	38 of these members are boys.
	There are 19 members who are girls and 15 years old or under.
	There are 23 members who are boys and over 15 years old.

Complete the table.
	
	15 or Under
	Over 15
	Total

	Boys
	
	
	

	Girls
	
	
	

	Total
	
	
	



Question 3:
As part of an experiment, Peter throws a die and spins a coin.  After 150 trials, he observes “heads” 71 times and a “six” 21 times.  In 68 of the trials, he gets neither a “head” nor a “six”.  Complete the Table.
	
	Six
	Not a Six
	Total

	Head
	
	
	

	Tail
	
	
	

	Total
	
	
	



Adapted from: eucc2011.wikispaces.com/file/view/8.SP.4+-+Two+Way+Tables.docx


